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NAAC Cycle 2 

Criterion: 2.6.2 

CO ASSESSMENT PROCEDURE  

Percentage Weightage for Direct and Indirect Assessment tools used for CO attainment 

calculation. 

Direct Assessments (Internal exam, 
assignments, End semester exam) 

Indirect Assessments (Course 
end survey/feedback) 

80% 20% 

 

Weightage for different direct assessment Tools 

Internal Exam Assignment 
End Semester 

Exam 
Total 

64% 16% 20% 100% 
 

 

PROCEDURE 

 

⮚ CO direct is obtained as CO direct = 0.8 CO internal + 0.2 CO external 

⮚ CO internal is calculated based on marks of internal test marks and assignment marks. 

⮚ Each question of internal test and assignment will be mapped to Cos. 

⮚ CO internal attainment of each Cos is obtained by evaluating the marks contributed by 

questions mapped with corresponding Cos of both internal tests and assignment. (CO internal 

attainment is obtained by checking the number of students who scored more than 45% of marks 

on each question. Average of all questions mapped to a particular CO gives the internal 

attainment of that CO) 

⮚ CO external is obtained by checking the percentage of students who scored more than 45% 

of marks in university exams. 

⮚ From CO internal and external CO direct can be obtained by using the above formula for CO 

direct. 

 

⮚ CO indirect is obtained by considering the marks of course end survey. here attainment is 

calculated based on the number of students who scored more than 50% of marks. 

 

Final CO attainment = 0.8 CO direct+ 0.2 CO indirect 

 

1. For direct assessment tools Target for attainment is set as 45%  and Attainment Levels 
are set as follows. 

 

● If   ≥40%  of students Score 45% of marks              1 
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● If   ≥60%  of students Score 45% of marks               2 

● If   ≥80% or more students Score 45% of marks               3 

 

 

⮚ To find intermediate value between levels 0,1 2 and 3 following mathematical 
calculations are incorporated.  

If  

● 0% to 40% students score 45% of marks               0 +
(𝑎𝑐𝑡𝑢𝑎𝑙 𝑝𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒−0)

(40−0)
 

For example  

If 35% of students scored 45% of marks then, 

Attainment level=0 +
(35−0)

(40−0)
=

35

40
= 0.875 

Similarly, 

● 40% to 60% students score 45% of marks             1 +
(𝑎𝑐𝑡𝑢𝑎𝑙 𝑝𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒−40)

(60−40)
 

● 60% to 80% students score 45% of marks             2 +
(𝑎𝑐𝑡𝑢𝑎𝑙 𝑝𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒−60)

(80−60)
 

 

 

2. For indirect assessment tools Target for attainment is set as 50%  and Attainment Levels 
are set as follows. 

 

● If   ≥40%  of students Score 50% of marks              1 

● If   ≥60%  of students Score 50% of marks               2 

● If   ≥80% or more students Score 50% of marks     3 

Intermediate values are found same as for direct methods. 

Page 2 of 2

01


		bennyjosephk@gmail.com
	2024-01-16T11:45:13+0530
	KM JOSEPH BENNY JOSEPH


		bennyjosephk@gmail.com
	2024-01-16T11:45:13+0530
	KM JOSEPH BENNY JOSEPH




